Mt. Rainier is 14,408 feet tall.  A group of mountaineers climbs 1000 feet each day, but slides down 800 feet each night.  On which day of climbing will they reach the summit?��(A)  72	(B)  73	(C)  68	(D)  69	(E)  NOTA


How many diagonals can be drawn in a convex 18-gon?��(A)  135	(B)  144	(C)  171	(D)  157	(E)  NOTA


Express as a fraction:  � EMBED Equation.2  �����(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


A 437 page book is numbered on each page, starting with page number 1.  How many digits are written in the numbering process?��(A)  1209	(B)  1206	(C)  1208	(D)  1203	(E)  NOTA


What is the units digit of � EMBED Equation.2  ���?��(A)  9	(B)  7	(C)  3	(D) 1	(E)  NOTA


How many of the first 200 natural numbers are divisible by 3, 4, 5, and 6?��(A)  3	(B)  4	(C)  5	(D)  6	(E)  NOTA


In a series of three consecutive integers, twice the lowest is 16 more than 22 minus the largest.  What is the middle number?��(A)  13	(B)  10	(C)  12	(D)  11	(E)  NOTA


How many positive 3-digit numbers are divisible by 27?��(A)  31	(B)  33	(C)  34	(D)  32	(E)  NOTA


What is the probability that when a card is randomly selected from a standard deck, it is either a queen or a spade?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


How many 5 digit numbers are perfect squares?��(A)  218	(B)  220	(C)  219	(D)  217	(E)  NOTA


How many prime numbers exist between 130 and 170?��(A)  5	(B)  6	(C)  7	(D)  8	(E)  NOTA


There are to be a total of 7 tests in a certain class.  Jerry has averaged 68% on the first 4.  What must he average on the remaining three if he wants to get an overall average of 80%?��(A)  98	(B)  92	(C)  96	(D)  94	(E)  NOTA
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What is the 8th term of the geometric series whose third term is 486 and whose common ratio is � EMBED Equation.2  ���?��(A)  2	(B)  4	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


How many squares are there in the grid shown?��(A)  20	(B)  40	(C)  32	(D)  38	(E)  NOTA


Joe and Jim begin running the same direction around a track starting from the same point.  Joe runs at 10  meters/second, while Jim runs at the leisurely pace of 8 meters/second.  If the track is 1600 meters in circumference, how many meters will Joe have run when he first laps Jim?��(A)  4200	(B)  6400	(C)  8000	(D)  9300	(E)  NOTA


Express as an ordered triple the mean, mode, and median of the following data set:�	42, 12, 18, 13, 28, 18, 34, 12, 22, 38, 12, 51, 25��(A)  (25, 12, 22)	(B)  (25, 18, 25)	(C)  (25, 18, 22)	(D)  (25, 12, 18)	(E)  NOTA


What is the sum of the greatest common factor and the least common multiple of 288 and 720?��(A)  1456	(B)  1584	(C)  1728	(D)  1520	(E)  NOTA


Express as an ordered pair the next two terms of the sequence:  4, 8, 5, 6, 6, 4, __, __?��(A)  (7,5)	(B)  (4,3)	(C)  (5,2)	(D)  (7,2)	(E)  NOTA


Aaron (A), Bart (B), Cathy (C), and Dana (D) are seated in a row.  Aaron is not seated on an end, Bart is seated next to Dana, and Cathy is seated two seats to the left of Dana.  What is the seating order from left to right?��(A)  ACBD	(B)  DBAC	(C)  BDAC	(D)  CADB	(E)  NOTA


Simplify:  � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


How many prime numbers are factors of  30! ?��(A)  17	(B)  10	(C)  14	(D)  12	(E)  NOTA


What is the smallest number greater than 1000 which gives a remainder of 2 when divided by 8, 9, and 10?��(A)  1080	(B)  1442	(C)  1082	(D)  1172	(E)  NOTA


Determine the sum of the infinite geometric series:  � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  5	(D) � EMBED Equation.2  ���	(E)  NOTA


Square A has area 64.  Square B is drawn by connecting the midpoints of the sides of Square A, then Square C is drawn by connecting the midpoints of the sides of Square B, etc.  What is the sum of the areas of all the squares that can be drawn by continuing this method?��(A)  � EMBED Equation.2  ���	(B)  96	(C)  � EMBED Equation.2  ���	(D)  128	(E)  NOTA


Two arithmetic means are inserted between 5 and 15.  What is the larger of the two?��(A)  12	(B)  10	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


When Lori dies, her fortune is going to be split among her three daughters.  To the kindest daughter, she is going to give half of her fortune, plus half a dollar.  To the smartest daughter, she is going to give � EMBED Equation.2  ��� of what’s left, plus half a dollar.  To the prettiest daughter, she is going to give the remaining 1000 dollars.  How much money does Lori plan to leave to her daughters?��(A)  5733	(B)  6000	(C)  6004	(D)  5421	(E)  NOTA


How many natural number are factors of 4038 ?��(A)  12	(B)  8	(C)  7	(D)  6	(E)  NOTA


Solve for x:  � EMBED Equation.2  �����(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


What is the maximum value of � EMBED Equation.2  ���?��(A)  8	(B)  3	(C)  11	(D)  7	(E)  NOTA


Find the sum of the sequence:  2, -4, 6, -8, .
